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oLrqfu’B iz”u ¼1&8½ 

Objective Type Questions (1-8) 
uhps fn, x;s iz”uksa esa ls lgh fodYi pqusa&                                                 

Choose the correct option from the given                                           
iz”u%1 gqjM+k lEesyu cqykus dk mÌs”; Fkk&                                       ¼1½ 

 ¼v½ jktLFkku esa ejkBk “kfDr dks jksdus ds fy, 

¼c½ vaxzsth izHkko dks lhfer djus ds fy, 

¼l½ jktiwr jktkvksa dh ,drk de djus ds fy, 

¼n½ mi;qZDr lHkh                                                                                                          [      ] 

        The purpose of calling the Hurda Conference was- 

(a) To stop the Maratha power in Rajasthan. 

(b) To limit influence of English. 

(c) To reduce the unity of Rajput Kings. 

(d) All the above.          [      ] 

iz”u% 2 izFke xouZj tujy Fks&                                                 ¼1½ 

      ¼v½ ykWMZ fofy;e csafVd               ¼c½ okjsu gsfLVaXt  

      ¼l½ ykWMZ Mygksth                    ¼n½ ykWMZ dsfuax                    [      ] 
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 The first Governor General was-                                                                                      

(a) Lord William Bentinck                  (b) Warren Hastings 

(c) Lord Dalhousie                                (d) Lord Canning             [      ] 

iz”u% 3 fcjlk eq.Mk dk laca/k gS&                                             ¼1½ 

      ¼v½ mÙkjizns”k ls                           ¼c½ e/;izns”k  

      ¼l½ jktLFkku                              ¼n½ >kj[k.M                [      ] 

           Birsa Munda is related to -                                                                                              

            (a)Uttar Pradesh                               (b) Madhya Pradesh 

     (c)Rajasthan                                       (d) Jharkhand      [      ] 

iz”u% 4 U;k;ikfydk dk izeq[k dk;Z gS&                                          ¼1½ 

      ¼v½ fooknksa dks fuiVkuk                  ¼c½ U;kf;d leh{kk 

      ¼l½ ekSfyd vf/kdkjksa dk laj{k.k           ¼n½ mi;qZDr lHkh    [      ] 

           The main function fo the judiciary is -                                                                              

          (a)Setting the disputes                                 (b) Judicial review 

          (c)Protection of fundamen                           (d)All the above    [      ] 

iz”u% 5 yksd lHkk esa lÙkk/kkjh ny dk eqf[k;k gksrk gS&                             ¼1½ 

      ¼v½ jk’Vªifr                           ¼c½ iz/kkueU=h 

      ¼l½ jkT;iky                          ¼n½ eq[;eU=h     [      ] 

           The head of the rulling party in the Lok Sabha-                                                               

          (a)President                                                     (b)Prime Minister 

          (c)Governor                                                     (d)Chief Minister    [      ] 

iz”u% 6 uohdj.kh; lalk/ku ds mnkgj.k gS&                                           ¼1½ 

      ¼v½ lkSj ÅtkZ                          ¼c½ iou ÅtkZ                                                                 

      l½ Tokjh; ÅtkZ                        ¼n½ mi;ZDr lHkh    [      ] 



 

3 
 

          Examples of renewable resources are-                                                                                      

          (a)Solar energy                                     (b) Wind energy 

          (c)Tidal energy                                      (d) All  the above     [      ] 

iz'u% 7 fuEufyf[kr esa ls ekuo fufeZr lalk/ku ugha gS&                                   ¼1½ 

       ¼v½ iqy        ¼c½ lM+d    

¼l½ e”khu            ¼n½ izkd`frd xSl     [      ] 

            Which of the following is not a man made resource?                                                     

           (a)Bridge            (b) Road          

           (c) Machine                  (d) Natural gas     [      ] 

iz'u% 8 Hkkjr ljdkj us vkfne tutkfr lewg dh lwph esa jktLFkku dh fdl tutkfr dks “kkfey 

fd;k gS \                                                                    ¼1½ 

      ¼v½ Hkhy        ¼c½ eh.kk         

      ¼l½ xjkfl;k               ¼n½ lgfj;k              [      ] 

          Which tribe of Rajasthan has been included in the list of primitive tribal groups by the 

Government of India?                                                                                              

          (a)Bhil                (b) Meena          

         (c) Garacia                         (d) Sahariya      [      ] 

[k.M & c  vfry?kwÙkjkRed iz”u 

Very  Short Answer type Questions 
 

iz'u% 9 fuEufyf[kr dks lqesy dhft,&                                             ½  x  4 =  2 

      ¼1½ eLdsV                      A eqfLye leqnk; dk ,d U;k;fon 

      ¼2½ eSp ykWd                        B  fdlh O;fDr ds f[kykQ nqjkpj.k dk vkjksi 

      ¼3½ eq¶rh                       C iSny lSfudks }kjk bLrseky dh tkus okyh cUnwd  

      ¼4½ egkfHk;ksx                   D cUnwd ftlesa ck:n ls fpaxkjh nh tkrh FkhA 
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   Match the following  

           (1)Musket                                       (A) A jurist from the Muslim community 

           (2)Match Lock                                (B) A charge of misconduct against a person. 

           (3)Mufti                                           (C) The gun used by Pedal  

           (4)Impeachment                            (D) Gun in which spark was given by gunpowder 

 

iz'u% 10 gk¡ ;k uk esa mÙkj nsa&                                               ½ x 4 = 2 

               ¼1½ yksx gh ,d jk’Vª ds lcls cMs+ lalk/ku gksrs gSaA                   [       ] 

             ¼2½ yksx lkekU; :i ls pje tyok;q dks ilUn djrs gSaA              [       ] 

             ¼3½ [kfut fu{ksiksa okys {ks= vf/kd ?kus cls gq, gSaA                     [       ] 

            ¼4½ vkS|ksfxd {ks= jkstxkj ds volj ugha iznku djrs gSaA               [       ] 
 

      Answer in Yes or No – 

1. People are the biggest resource  of a nation.                                              [       ] 

2. People generally prefer extreme climate.                                                  [       ] 

3. Areas with mineral deposits are more densely populated.                   [       ] 

4. Industrial areas do not provide employment opportunities.                  [       ] 

 

iz'u% 11 U;wure osru dkuwu ls D;k vfHkizk; gS \                               ¼2½ 

        What do you understand by minimum wage Act? 

mÙkj@Ans___________________________________________________________________

___________________________________________________________________________ 

 

iz”u% 12 efgyk l”kDrhdj.k dh vko”;drk ds dksbZ nks dkj.k fyf[k,A        1+1=2 

mÙkj (1)_______________________________________________________________________ 

          (2)_______________________________________________________________________ 

            Write any two reasons for the need of women empowerment. 

Ans   (1)_______________________________________________________________________ 

          (2)______________________________________________________________________ 
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iz”u% 13 lu~ 1857 esa esjB Nkouh ds flikfg;ksa dks u, dkjrwlksa ij D;ksa ,srjkt Fkk \          2 

             Why did the Sepoys of Meerut Cantt in year 1857 had objection on new Cartridges? 

mÙkj@Ans ___________________________________________________________________ 

                   ___________________________________________________________________ 

iz'u% 14 HkhyokM+k dks jktLFkku dk esupsLVj dgk tkrk gSA D;ksa \                          2 

         “ Bhilwara is called the Manchester of Rajasthan.”  Why? 

mÙkj@Ans___________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________ 

iz”u% 15 bZLV bf.M;k dEiuh Hkkjrh; fdlkuksa ij uhy dh [ksrh djus gsrq ncko Mkyrs Fks] D;ksa\ dkj.k 

Li’V djsaA                                                                ¼4½ 

            Why did the East India Company put pressure on Indian farmers to cultivate indigo? 

Explain the reason. 

mÙkj@Ans___________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________ 

iz”u% 16 fuokZg d̀f’k ds izdkjksa dk o.kZu djsaA                                         ¼4½ 

              Describe the types of subsistence farming  

mÙkj@Ans___________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________ 

iz”u% 17 m|ksx “kCn dk vFkZ Li’V djrs gq, dPpk eky vk/kkfjr m|ksxksa dk oxhZdj.k djsaA     ¼4½ 

               Explain the term ‘Industry’ and classify of Industries on  the basis of raw materials.  

mÙkj@Ans___________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________ 
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iz”u% 18 ¼i½ dYiuk dhft, dh vki 1850 ds n”kd es ,d xjhc ifjokj esa iSnk gq,] ml le; 

ljdkj }kjk lapkfyr ikB”kkykvksa ij dksbZ nks jk; nsaA                ¼2½             

               Imagine that you were born in a poor family in 1850 decade, at that time Give two 

opinions on school run under government.    

mÙkj (1)_______________________________________________________________________ 

          (2)______________________________________________________________________ 

 

¼ii½ izkFkfed “kkykvksa esa izos”k ysus ds ckn vkxkeh d{kkvksa ds v/;;u esa vk/ks cPps fo|ky;     

NksM+ nsrs gSa] D;ksa \ nks dkj.k fy[kks                                                  ¼2½ 

       Half of the children taking admission in primary schools leave their schools for further 

studies, why? Give two reasons. 

mÙkj (1)_______________________________________________________________________ 

          (2)_______________________________________________________________________ 

iz”u% 19 fuEufyf[kr rkfydk iw.kZ djsaaA                                       1 x 4 = 4 

Ø-la-  jkT; ljdkj dsUnz ljdkj 

1 dkSuls jktuhfrd ny vHkh lÙkk 

esa gSaaa a\ 

  

2 vkids {ks= esa fuokZfpr izfrfuf/k   

3 vHkh dkSulk jktuhfrd ny 

foi{k esa gS\ 

  

4 vxys pquko dc gksaxs\   
               

              Complete the following table. 

S.N.  State Govt. Central Govt. 

1 Which political parties are 
currently in power\ 

  

2 The elected representative of 
your area 

  

3 Which political party is 
currently in opposition\ 

  

4 When will the next election 
be held. \ 
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iz”u% 20 ¼i½ ,sls nks ekSfyd vf/kdkj crkb;s ftudk dksbZ O;fDr viuh izfr’Bk ,oa lerk ijd O;ogkj 

ij tksj nsus ds fy, iz;ksx djsaA                                       ¼2½ 

                 Mention two fundamental rights which a person can use to emphasize his dignity 

and equitable treatment.         

mÙkj (1)_______________________________________________________________________ 

          (2)_______________________________________________________________________ 

       ¼ii½ ,sls fdUgha nks {ks=ksa dk o.kZu dhft, ftlls gkf”k;kbZ leqnk; dh igpku iznf”kZr gksA  ¼2½ 

    Discribe any two areas that show the identity of the marginalized community? 

mÙkj/Ans_______________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________ 

iz”u% 21 jktLFkku ds ekufp= esa n”kkZb,&                                              4x1=4 

        ¼v½ ckM+esj         ¼c½ Hkjriqj         ¼l½ ikyh       ¼n½ ckalokM+k 

               Show in the map of Rajasthan 

(a) Barmer                  (b)Bharatpur                  (c) Pali                  (d) Banswara 

mÙkj/Ans 
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iz”u% 22  uhps fn, x, rhu iz”uksa esa ls nks iz”uksa ds mÙkj nhft,A                      4+4=8 

                 Attempt any two questions out of three question given below 

      ¼i½ 1857 dh Økafr dh lQyrk ,oa vlQyrk ij vius fopkj fy[ksaA 

        Write down your opinion on the success and failure of the 1857 revolution.        

       

mÙkj/Ans_____________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

      ¼ii½ ÞHkkjr dh vktknh esa jk’Vªfirk egkRek xka/kh ds ;ksxnkuÞ ij foLrkj ls fy[ksA 

                    Write in detail about the contribution of the father of Nation Mahatma Gandhi in 

the freedom of India. 

mÙkj/Ans_______________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

   ____________________________________________________________________________ 

 

        ¼iii½ jkWyV lR;kxzg ij foLrkj ls fy[ksA 

                    Write in detail about the Rowlatt Satyagraha. 

mÙkj/Ans_______________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

    ____________________________________________________________________________ 
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iz”u% 23  fuEufyf[kr ij fVIi.kh fyf[k,A                                          4+4=8 

                Write your Comments on the following  

        ¼i½ tSo e.My  Biosphere 

        ¼ii½ ifjrU=    Ecosystem 

mÙkj@Ans(i)_________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________ 

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________ 

 

(ii)_________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________ 

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________ 

 

vFkok 

OR 

 

HkwL[kyu D;k gS\ ;g D;ksa gksrk gS\ HkwL[kyu jksdus ds mik; crkb,A             ¼2+3+3=8½ 

What is a landslide? Why does it occurs? Write the measures to prevent landslide? 

mÙkj/Ans_______________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 
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iz”u% 24  lafo/kku ls vki D;k le>rs gSa \ lafo/kku dh vko”;drk ds dkj.k Li’V djsaA   2+6=8 

   What do you mean by constitution? Explain the reasons for the need of the 

constitution? 

vFkok 

                                                               OR 

        /keZ fujis{krk dh vo/kkj.kk dk vFkZ ,oa orZeku esa bldh izklafxdrk ij vius fopkj fy[ksaA 

        Write your views on the meaning of the concept of secularism and its relevance in the    

present time. 

mÙkj/Ans_______________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

iz”u% 25 fn, x, rhu iz”uksa esa ls fdUgha nks iz”uksa ds mÙkj nhft,A               4+4=8 

                 Attempt any two questions from the given three questions.  

       ¼i½ jktLFkku ds egRoiw.kZ HkkSxksfyd o izkd`frd i;ZVu LFkyksa dk o.kZu djsaA 

           Describe the important geographical and natural tourist places of Rajasthan. 

       ¼ii½ lM+d lqj{kk fu;eksa dk foLrkj ls mYys[k djsaA 

                    Mention road safety rules in details. 

       ¼iii½ lkeqnkf;d LoPNrk esa fo|kFkhZ D;k&D;k Hkwfedk fuHkk ldrs gSa \ 

                    What roles can the students play in the Community cleanliness ? 


